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Q1.

Q2.

Q3.

Q4.

Q5.

Teh feT o ool TR Uk Tt ot GEai RT3 d - Q 1.

B 2

(@ 24
() 22
(c) 48
@) 44

T fo # et aR T wEt o WEA R Q2.

TvIa B 2

(a) 46
(b) 44
(c) 48
(d) 22

e o # foperit 9 ot i ggat wer 9wt Q 3.

gt 2

(@ 24
(b) 22
© 26
@ 23

4 AW 5 O & g § fopae ot ot oF AT Q 4.

Y T il 2

(a) 4R S firRe
(b) 45T 12 foe
() 4R 38> fiFe
@ (a)3R (c)3H

FaUSTH 2 S eI At ue aaT e i gg haig Q5.
T SHIUT FATA ShHiTSTT |

@ 30°.
() 627
(c) 45°
@ 60°

How many times in a day, the hands of a
clock are straight ?

(@ 24
(b) 22
(c) 48
@ 44

How many times are the hands of a clock
atright angles in a day ?

(a) 46
(b) 44
(c) 48
(d) 22

How many times do the hands of a clock
coincide in a day ?

@ 24
(b) 22
) 26
@ 23

At what time between 5 and 4 o’clock will
the hands of a clock be at right angle ?

(a) 515—1minute past 4

(b) 12 minute past 4
(c) 33> minute past 4
(d) Both (a) and (c)

The angle between the minutes hand and the hour
hand of a clock when the timeis 2 0'clock is:

@ 30°.
®) 625
(c) 45°
d 60°
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Q6. ﬁmﬁﬂﬁ'@'w 5 fuie ufq HeT 3T & Q6. Two clocks in which one is ahead by 5
STt & 31 @ﬁ7ﬁﬂ?uﬁmﬁ@‘ﬁﬁﬁ%ﬁ minutes per hours fast and second is slow
T o o 4 =5 a1g fohaw fAe o1 TR & by 7 minutes per hour to their normal time.
IRATT ? Jfe =t e AT | Tch B T W Then what will be the time difference
WW@TW%I between two clocks after 4 hours ? If both
@ 45 fy. are configured by same time at present ?
(b) 48TH. (a) 45 min.
) 8fa (b) 48 min.
d) 28fH. (c) 8 min.

(d) 28 min

Q7. THUSHHORIUR 2w 3fedi® R Q7. A clock is slow by 3 minutes at 2’0 clock
Wﬁmaﬁ 29 & 5 faee aﬁ% |31ﬁ on Wednesday. When did it show the
Steh THI el fe@rar correct time ?
(a) WW 6 &S (a) Morning 6’0 clock on Tuesday
(b) WO g8 8 EE| (b)) Morning 8’0 clock on Tuesday
(¢) FHUIR Ydg 4 EE (c) Morning 4’0 clock on Wednesday
(d) JI9R Yde 8 EE (d) Morning 8’0 clock on Wednesday

Q8. TS USI U 3 U H 12 HehUe MM & STt Q8. A clock getsfaster by 12secondsin every 3hours.
%I ‘éilﬁ?a'@"{ﬁla'l'{‘aﬁ A7 3 oSt 9 e Qe If clock is started after setting it up correct time at
EadCIGRE IR Al HITAAR ol ATq: 10 a5t 3’0 clock afternoon on Sunday then what will be
AT T BT ? the correct time at 10am.On Tuesday ?
(a) 10 &St 2 fHE 50 b (a) 100’ clock 2 minutes 50 seconds
(b) 10 ST 3 fHAE 2 e (b) 100’ clock 3 minutes 2 seconds
(c) 10 eI 2 e 52 qehe (c) 100’ clock 2 minutes 52 seconds
(d) 10 ST 2 fHe 54 Ueheg (d) 100’ clock 2 minutes 54 seconds

Q9. QERI'[%H aﬁﬁaﬁﬁaﬁuﬁwaﬁw Q9. A person came at 12:30 noon to meet his
12:30 ST 31T, ,@ﬁw 1:20 ST 3TAT y GiEsEi) friend, first time and second time he came
R 2:30 oY ST 3T =eft I} 4 St A7 at 1:20 and third time he came at 2:30 o
ag R e faer= s clock and fourth time he came at 4’0o clock.
() s When will he come to meet again ?
(b) 4:50 q1 (a) 5 o0’clock
(c) 5:50 S () 4:50 o’ clock
@ 5108 (¢) 5:50 0'clock

(d) 5:10 0’ clock
02 CLOCK KGSI@®)IAS|
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Q 10.

Q11.

Q 12.

Q 13.

Q 14.

afe at ot geat Smua H & 65 fae o e fae
T & d o T S o e &

(@) o
(b) G
(¢ T
(@) TR =7é fran < TehaT 2 |

Frafafaa d @ e e TRl oSt o i g
T e it g STa | 180 ST ShIUT SFTEI ?

(@ 9.00 St

(b) 9:00 3R 9.15 &S o el
() 9.05 3 9.18 & o s
(@ 9.03 3 9.1 a1 & el

frafafaa @ 9 fora qua fadt ot & w52 =it
E aeT fie i 8 emuw | 0 (¥) fedfv =
SHIUT SATUIT 2

@ 4

() 43R 4.13 & &
(©) 4.07 AR 4.22 S &&=
(@) 4.24 AR 4.27 S o=

et u<t ° 3wrg (P.M.) 2 &Sl § WG
(P.M.) 9 &I & ™ & 30K fide = ggat
TeRer=T T Uk EY et 1@ H 1T uig STt el -

(a) 6dR
(b) 79X
(c) 129R
(d) 14 49R

R oSt ® 1 P.M. & 10 P.M. 9 52 3R e
T gt fehaiT S GHeRIUT (90) UL & ?

(@) 18R
(b) 1691
© 129R
@ 9dR

Q 10.

Q11.

Q12.

Q13.

Q 14.

UPSC CSAT

If hands of a clock getting coincide after
every 65 minutes then time of the flock in
comparison to normal time is:

(a) Fast

(b) Slow

(¢c) Same

(d) Cannot be determined.

Which of the following time will hour hand
and minute hand of a clock form 180 degree
angle between them ?

(a) 9:00 O’clock

(b) Between 9:00-9:15 O’clock
(c) Between 9:05-9:18 O’clock
(d) Between 9:03-9:11 O’clock

Which of the following time will hour hand
and minute hand of a clock form 0 degree
angle between them ?

(a) 4:00 O’clock

(h) Between 4:00-4:13 O’clock
(c) Between 4:07-4:22 O’clock
(d) Between 4:24-4:27 O’clock

Between 2:00 PM and 9:00 PM in a clock how
many times will hour hand and minute hand be
instraightline butnot coincide with each other ?

(a) 6 times
(b) 7 times
(c) 12 times
(d) 14 times

Between 1:00 PM and 10:00 PM in a clock
how many times will hour hand and minute
hand form right angle with each other ?

(a) 18 times

(b) 16 times

(¢c) 12 times

(d) 9 times

CLOCK
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Q15 T gt § 9 P.M. ¥ 2 A.M. T H¢ 3 Q 15.

Q 16.

Q17.

Q 18.

04

Taere ot ggat et o uTdt gt

(@) 59R
(b) 49R
(c) 149dR

(d) T Y HE Tl

4P.M.95P.M. &aafraaaafeiasisr @ 16.

firre o g S SR 2 e T e ?

(@) 4:15 TG
(b) 416 IARE
(©) 4:24 W&
@d) 4:36 TG

AU 8 W AWTE 9 o &l o fovd THA Q 17.

ferelt wr<t ot firere Y gE S H S R 3 fire
w2

(a) 8:40
402
(b) 8:40—

6
8:40—
(©) T

4
d) 8:44—
(d) 1

SHEUAT I TTT foh-

1. T U & 6 7 e i et fo sesh &
TR |

2. HEI2 &S 3R 3 o1 o s o GE R €

3. WS A G TH TR F FWE |

Teram fare a1 ST At fht Ueh IR TR g
FUERT ?

(a) 64

5
b 64—
(b) T

(c) 65
5

(d 65—
11
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Between 9:00 PM and 2:00 AM in a clock
how many times will hour hand and minute
hand coincide with each other ?

(a) 5 times

(b) 4 times

(c) 1times

(d) None of the above.

Between 4:00 PM and 5:00 PM at which
time minute hand will be 2 minutes ahead
of the hour hand ?

(a) 415 PM

(b) 4:16 PM

(c) 424 PM

(d) 4:36 PM

Between 8:00 PM and 9PM at which time
minutes hand will be 3 minutes late to
hour hand ?

(@) 8:40
402
(b) 8:40—

6
8:40—
(©) o

4
d) 8:44—
(d) T

. Imagine that -

1. Hour hand and minute hand of a clock
runs smoothly.

2. Clock shows time between 2:00 O’clock
and 3:00 O’clock

3.  Bothhands of a clock are coincide to each other

After how much time both hands of that
clock will coincide again ?

(@) 64

5
b 64—
(b) T

(c) 65
5

d 65—
11
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Q19. TH TS UEE 15 e B 2 e A e S el @ 19.

Q 20.

Q 21.

HHAR ag 8 &l TH Hel §HT W 91 fohar
T 1 ST U hel et 9Hd feamait ?

(@) THEAR2 AM.
(b) IERER 2 AM.
(c) YHAXS AM
(d) T HE T

T TS 24 WS | 10 fiee AT B W B, UH
forgier &roT uT Er<t WEt WHT T = ey @ et & At
formm fm R Em W oy v awe femmatt ?

(@ 18f&
m) 72fF
) 90fea
(d) T8 Y

Tk el Jag 10 ot TR el & 31 31oTg 4
T HI Brel & | 39 3t § 5 W S1af &
Wifre 29 & | uds Nitas & a1 ot @i 10
fire ot fasm fear omar 2, e WiRes it
Feh-Sih STate fera= & ?

(a) 64T
(b) 62 e
(c) 60THTe
(d) 55fe

Q 22. fordlt @t w<t ® 8 o7 @ € a9 e gt o

7.50 T W& § | Ueh He 9Tg T Hel U1 | 9
IR T a9 @S ST § 9.15 99T W,
g ATA HITSTT, HT T ST Gf S | qar
U TET BN ?

(@ 8.0
() 8.24
) 8.36
(d) 9.00

Q 20.

Q 21.

Q22.

UPSC CSAT

A clock becomes 2 minutes fast in every
15 minutes. It was started on correct time
at 8:00 AM on Monday. At what time it
will show right time again ?

(a) Thursday 2:00 AM

(b) Friday 2: 00 AM

(¢) Friday 8:00 AM

(d) None of the above

A clock becomes 10 minutes fast in every 24
hours. In how many days will it show right
time again if it was started at right time ?

(@) 18 days
(b) 72 days
(¢) 90 days
(d) None of the above

A class starts at 10:00AM and ends at
4:00PM. There are 5 periods of equal
duration in this time interval. There is a
break for 10 minutes after each period.
What is the duration of each period ?

(a) 64 minutes
(b) 62 minutes
(¢) 60 minutes
(d) 55 minutes.

At some point a correct watch shows 8
O’clock and an incorrect watch shows 7:50.
After an hour the correct watch shows 9
O’clock and the incorrect watch shows
9:15, then find out the time when both the
watches should be showing the same time.
(a) 8:10

(b) 8:24

(c) 8:36

(d) 9:00

CLOCK
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Q 23. WvﬁaﬁﬁC)w@%?rmwmﬁﬁ Q23. At some point a correct watch shows 9

8:55 &I T ¢ | Ueh W2 &1 o1l Wet ot & 10
TR E A @O T | 10:10 ST @ R AT
€ THT AT ShiTTT ST SHT Trgat § Tu
T TET T ?

(@ 9:10
() 9:20
© 9:24
d 9:48

O’clock and an incorrect watch shows 8:55.
After an hour the correct watch shows 10
O’clock and the incorrect watch shows
10:10. then find out the time when both the
watches should be showing the same time.
(a) 9:10

(b) 9:20

(c) 9:24

(d) 9:48

PREVIOUS YEAR QUESTIONS

Q1.

Q2.

Teh UET ¥¥ 24 = H 2 fo=e oftdt & St Q1.

&, et T qE wet B 24 W02 H 2 fuwe
A &I STl ¢ | Teh Taviw ot it ufeai w
& way femrdt @ | afg 24 Het areft ot &
AT L, At Frtafae swu=t & 9 -
AL R UPSC-2017

(a) 30 & R e R AT afeat fh ueh & 751
feamd 21

() 90 fF R g1 W <A ufeal e & gH
feamd 2 |

(¢) 120 f&A R BR R ST et ff v & wme
feardt 21

(d) I FAT A W e off W T

T TS 1 99 U IR &STdt €, 2 &9 & 9
3 TS T AR STSTdr & TAT THY TH1T 30
THHT ST T EdT 1 Ifg 5 9eF g9t
T H 12 Ve od &, a7 10 oot 39 oo
| fora=T 9 T &R ? UPSC 2017

(@) 20UHS
(h) 24 Uehe
(c) 28 Wshe
(d) 30 UhS

Q2.

A watch loses 2 minutes in every 24 hours

while another watch gains 2 minutes in

every 24 hours. At a particular instant, the

two watches showed an identical instant,

the two watches showed an identical time.

Which of the following statement is correct

if 24 hour clock is followed ? UPSC 2017

(a) The two watches show the identical time
again on completion of 30 days.

(b) The two watches show the identical time
again on completion of 90 days.

(¢) 'The two watches show the identical time
again on completion of 120 days.

(d) None of the above statements is correct.

A clock strikes once at 1 clock, twice at 2
clock and thrice at 3 clock and so on. If it
take 12 seconds to strike at 5’0 clock,
what is the time taken by it to strike at
10’0 clock. UPSC 2017

(a) 20 Seconds
(b) 24 Seconds
(¢) 28 Seconds.
(d) 30 Seconds.

06
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Q 3.

Q4.

Q5.

Qeé.

Teh &l aies 11:00 oo U et ¢ 3R Q 3.

3TURTE 2 :27 &S WHTCT Bt © | 39 3fa<rer
¥ 9R 9u orafy & e B &1 uew
s & =g o1 &t 5 faee &t fasma fean
STET | U NRTE & Sie-3is srary
frat & UPSC 2016

(a) 48 THE
(b) 50 e
(c) 51fe
(d) 53T

3TITZ 6 TSI H 7 T oh Sl Tl w4, ToReit oS ant
FreFggaearged 3 e smreantt uPSC 2015

(a) 3R 6:15
(b) ITRTE 6:18
(c) 3TTE 6:36
(d) 3TRE 6:48

HATT BT Tk UPSC 2014

1. T uE H 60 T e i gEar o ses &
TN

2. TS 8 TS 3 9 &t & W= il 9 fewd 7 |

3. O H S YA Th QR B IW R

Teramt firte (frereaw qutier) =g g+t geat fte
Teh SR Teh-g8N oh U gt

(a) 60
(b) 62
(c) 65
(d) 67

Tk TS T 18 e U oIt € 1 veh gEd ' '
24 e W aSTA € | Tk a e Set e 32 fie ™
STl e 1=t Tt it sifeet T ana H gee
8 ot STt ¢ , o gE fone T WA wvft T
QT T UPSC 2014
(@) 12:40 9
(b) 12:48 5=
(©) 12:56 9
(d) 13:04 9

Q4.

Q5.

Q6.

CLOCK
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A class starts at 11:00am and lasts till
2:27 pm. Four periods of equal duration
are held during this interval. After every
period, a rest of 5 minutes is given to the
students.
period is.

The exact duration of each
UPSC 2016

(a) 48 minutes
(b) 50 minutes
(¢) 51 minutes
(d) 53 minutes

Between 6 PM and 7PM the minutes hand
of a clock will be ahead of the hour by 3
minutes at UPSC 2015
(a) 615 PM
(b) 618 PM
(c) 6:36 PM
(d) 6:48 PM

Assume that UPSC 2014
1. The hour and minute hands of a clock
move without jerking.
2. The clock shows a time between 8o
clock and 9’0 clock.
3. The two hands of the clock are one above
the other.
After how many minutes (nearest
integer) will the two hands be again
lying one above the other ?
(a) 60
(b) 62
(c) 65
(d) 67
A bell rings every 18 minutes. A second bell
rings every 24 minutes. A third bell rings every
32 minutes. If all the three bells ring at the same
time at 8 o0’ clock in the morning at what other
time will they all ring together. UPSC 2014
(a) 12:40 hrs
(b) 12:48 hrs
(¢) 12:56 hrs
(d) 13:04 hrs
07
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x AWE, x fa, x 02, x e el x Gehg Bt Q7.

Q7.

Q8.

Q9.

Q 10.

08

fraTAeEe? UPSC-2022

(@) 11580x

b) 11581x

() 694860x

d) 694861

frafafaa w famm st UPSC-2022

1. 3T0RIE 3:16 91 3 3T0NE 3:17 o o o TIe) ol
e o TS 3R e o g e e i 2 |

2. 3UNE 4:58 IST 3 SIS 4:59 T o &< o TS
I forfe 1 g 3R Yehve i1 ¢ Tk W el 2 |

ITFe o § A -/ A TR /8 ?

(@) HaA1

(b) HAA 2

) 13230

@ AM1IAAE 2

fr=fafea § 9 fog gua fodt gt & we
Wi g3 qAT fHee &t GE TTH | 180 T hIvT
AT ? UPSC-2021
(a) 7:00 9t

(b) 7:00 3R 7:05 a1 % &=

(¢) 7:05%S

(@) 7:05 3 7:10 5 o

HIE SAR-TSI Uk 24 TS H 10 faae ast aerdt
B IS IS GIa S gaig 8:00 I GEl THT
faam & forar et foram T | 5ier o ot gEar
I UL 6:00 TS T THA @t ¢, @t |et
qITFTE? UPSC-2019

(a) TG 5:36
(b) 3TTE 5:30
(c) ITRTE5:24
(d) 3TRTE 5:18

Q8.

Q9.

Q10.

CLOCK
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How many seconds in total are there in x
weeks, x days, x hours, X minutes and x
seconds ? UPSC-2022
(@) 11580x

(b) 11581x

(c) 694860x

(d) 694861x
Consider the following statements: UPSC-2022

1. Between 3:16 pm and 3:17 pm., both hour
hand and minute hand coincide.

2. Between 4:58 pm. And 4:49pm., both
minute hand and second hand coincide.

Which of the above statements is/are correct ?

(a) Only 1

(b) Only 2

(¢) Both 1and 2
(d) Neither 1nor 2

At which one of the following times, do the
hour hand and the minute hand of the clock
make an angle of 180with each other ? UPSC-21

(a) At 7:00 hours
(b) Between 7:00 hours and 7:05 hours
(c) At 7:05hours
(d) Between 7:05 hours and 7:10 hours

A wall clock moves 10 minutes fast in every
24 hours. The clock was set right to show the
correct time at 8:00 am on Monday. When the
clock shows the time 6:00 pm on Wednesday,
UPSC-2019

what is the correct time ?

(a) 5:36 pm
(b) 5:30 pm
(c) 524 pm
(d) 518 pm
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Q1. B Q9. C Q17. B
Q2. B Q10. A Q18. D
Q3. B Q11. C Q19. B
Q4. D Q12. C Q20. B
Q5. C Q13. A Q21. A
Q6. B Q14. B Q22. B
Q7. B Q15. B Q23. B
Q8. C Q16. C

Q1. D Qs. C Q9. D
Q2. B Q6. B Q10. A
Q3. A Q7. D

Q4. C Q8. C

CLOCK 09
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